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*Acceleration due to gravity g = 10 m/s*
*Coulomb's Constant ke = 9x10° N.m?/C?
*Electron charge e = 1.6x10°C

1. For the two vectors A = (—i +3j) and B =(2i + J). The vector 2A + B equals

a4 +4] - 47+ 7]
¢ 7] d- _4
2. Find the dot product of the vectors A and B: A=2i+5j—4k and
B=-2i-3j-5k:
a- 1 b- 47 —15j + 20K
c- 11 d- 2] —9K

3. A car accelerates so that it goes from a velocity of 20 m/s to a velocity
of 40 m/s in 4 seconds. What is its acceleration?

a- 0.2 m/s? b- 5 m/s?
c- 4 m/s? d- 10 m/s?
4. As an object falls freely in a vacuum, its
a-  velocity increases b-  acceleration increases

c- acceleration decreases d bothaand b

5. A horizontal force of 20 N is applied on an object of mass 10 kg. What is its
acceleration?

a-  2m/s? b- 200 m/s?
c- 0.5m/s? d- 20 m/s?

6. Inthe diagram below, a box is at rest on an inclined plane. Which vector represents
the direction of the normal force acting on the box?

]
A
B Haorizontal
a- A b- B
c- C d- D

7. A 50 kg object rests on the floor. The coefficient of static friction is
0.5. The force parallel to the floor needed to move the object is most

nearly:
a- 250N b- 500N
c- 125N d- 1000 N

8. A particle is accelerated in uniform circular motion at a rate of 2 m/s?, around
a circle of radius of 18 m. What is the particle's speed, in m/s?

a- 36 b- 9
c- 6 d- 3
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9.

10.

11.

12.

13.

14.

15.

16.

A car is moving at 20 m/s along a straight horizontal track. What will its speed be
after climbing the 15-m hill shown in the figure, if friction is ignored?

v=20m/s
—_

15m

a- 17m/s b- 7m/s

c- 5m/s d- 10 m/s
Energy is measured in the same units as

a- Power b- Force

c- Work d- Momentum

What power is needed to lift a 50-kg object a vertical distance of 5.0 m in 20.0
s?

a- 125 watt b 125 watt
c- 25 watt d 250 watt

A ball is moving at 6 m/s and has a momentum of 24 kg.m/s. What is the ball’s
mass?

a- 0.3kg b- 4kg

c- 24kg d- 144 kg

A particle of mass 1 kg is located at (0,0) and a particle of mass 2 kg is located at
(3,0). What is the location of the center of mass of this system?

a- (0,0) b-  (1,0)

c- (150 d- (2,0

Two identical charges, 2.0 m apart, exert forces of magnitude 4.0 N on each other.
The value of either charge is:

a- 18x10°C b- 21x10°C

c- 42x10°C d- 19x10°C

The diagram shows the electric field lines in a region of space containing two

point charges (Y and Z). Then:

MY
+®+@<
AN

a- Y isnegative and Z is positive

b-  the magnitude of the electric field is the same everywhere
c- Y ispositive and Z is negative

d- Y and Z must have the same sign

Two point charges q; = 25 nC and g, = -75 nC are separated by a distance of
20 cm. What is the electric potential at the midpoint between them?

a- -2.25kV b- -45kV

c- -9kV d- -18kV
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17. The diagram shows four 6-pF capacitors. The equivalent capacitance between
points a and b is:

a()

] Ob

a- 3 uF b-  4uF
c- 9uF d- 6uF
18. A charged capacitor stores 10 mC at a potential difference 40V. Its stored energy
is:
a- 200J b- 400
c- 251 d- 0.2J

19. Three ammeters are placed in a circuit as shown, if A; reads 5.0 amperes and A,
reads 2.0 amperes, what does A3 reads?

@)
Source
a- 10A b- 30A
c- 20A d- 70A

20. In the diagram, the current in the 3-Q resistor is 4A. The potential difference
between points 1 and 2 is:

32 2Q
le AVAVAY, AVAVAV, ® 2
a- 12V b- 0.8V
c- 125V d- 20V
sl )
21. The solution of the inequality2>3—x> -1 is:
& [-1,4] b- 4]
¢ [-41] d-  [-4,-1]
22. The fourth vertex of the square, three of whose vertices are(2,-2) «(~1,-2)
(2,1)is:
@ @- b- @)
¢ (-1-1) d- (-1
23. The distance between A(-1,6),B(3,-2) is:
& J8o b- Jag
¢ Ja0 - 12
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24.  The slope of the line whose angle of inclination 240" is:
&  _f3 b- 1
V3
c- 1 d- J3
NE)
25. The equation of the line passes through (2,1), (1, -1) is:
a-  2y+x-3=0 b-  y—2x+3=0
C-  2y—x+3=0 d-  y+2x-3=0
26. The equation of the circle whose center (1, -2)and radius +/3 is:
T (y+2f +(x+1)? =3 b= (y+2f +(x-2? =3
C  (y-2P +(x+1¥ =3 d- (y—2) +(x-17 =43
27.  The coordinates of the vertex of the parabola y =3+ x* are:
& (03) b- (0,-3)
¢ (30 d- (=30
28. The domain of the function f(x) = 22 is:
X“+1
a- (— o0, 1) b- (— 1 1)
¢ (L) - (~o0,0)
29.  The range of the function f(x)=4—+/x is:
o [a) > (o]
¢ 4] d- [-14]
30. If f(x)=x+2 and g(x) =+/x—1 then (fog)(x)=
& 244x-1 b-— /x+1
¢ 14Ux+2 d- 2—/x+1
31. im X2 ng—2
x>l x2 _
a- 0 b- 1
c- 3 - o
2
32. im X 32
x> 2x =1
& o b- o
c- 1 d- — 0
2
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33 The points of discontinuity of the function f (x) = ):(2+29 are:
a- -2 b- -3
c- 3 d- 3
St y =(2x+1)3-x), then % =
a-  5-4x b-  _2
C-  T7+4x d- 5
35 If f(x)=cos®x,then f'(x)=
& cosxsin®x b-  —2cosxsin x
C-  2cosxsinx d- _sinxcos?x
36. The min. value of f(x)=x*—2x—3on the interval [-1, 3]is:
a0 b- 3
c- -4 d- 1
37. The max. value of f(x) =1—x* on the interval [-2,1] is:
a- 2 b- 1
c- 2 d 1
38. Evaluation of the integral I(Zx—x—lz)dx is:
a 2+1+c - —2+i2+c
X X
“ xz—is+c & N
X X
39. Evaluation of the integral Jcox sin®x dxis:
a1 ., b- 1,
3sin" x+e 5 005" X+C
“ ls,ins'xcosx+c & %sinxcosx+c
40. The area enclosed between the two curves y =—x?,y = x—2 on the interval [-2,1]
is:
a5 b- 8
2 3
- 9 d- 5
2 3
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61. Communication skill is the ability and talent to ..........ccccoevvneennnns .
a-  send and receive messages successfully with others

b-  get personal goals

c-  occupy different but overlapping environments

d- assistin learning
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62. There are two types of communication skills, these types are ............ skills .
a-  signal and channel b- physical and practical
C-  verbal and nonverbal d-  social and identity

63. In SPAM model, the audience refers to the ................... to which/to whom
the presentation is directed.
a-  place b- situation
C-  method d-  people

64. The type of presentation in which the presenter tries to obtain and keep the
audience's attention is a/an ..........ccceivinnnn. .
a-  informative presentation b-  persuasive presentation
C-  entertaining presentation d-  content presentation

65. One of the guidelines for effective delivery of the presentation introduction is
tobe .....ccee..en .
a-  natural b-  satisfied
C-  honest d-  unfamiliar with your topic

66. Semantics is a branch of linguistic science that studies ....................... .
a-  the way words are assembled
b- the meanings of words
C-  how sounds are combined to form words
d-  the way in which language is used to interpret real intentions in particular

situations

B7. cecercrnrcsnninnns can help you to give bad news easier; for example, ""That's an
interesting outfit.""
a-  Euphemistic language b-  Relative language
C-  Abstraction language d- Equivocal language

68. Artifactual communication includes .........ccccevevnnenn. .
a-  vocal aspects of language
b-  orientation (face to face, one sitting, one standing ...etc.)
C-  things like kind of clothing people wear, the colors they use
d-  space and time

69. Color sends strong messages, Blue color signifies ................. in Cherokee Indian.
a-  defeat b-  danger
C-  joyous d-  truce

70. One of the important suggestions for controlling speech anxiety is to .............. .
a-  feel subordinate to your audience
b- focus on the audience
C-  undergo evaluation
d-  rely on a second language
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71. The gesture of circled thumb and forefinger has different meanings in
different cultures. For Americans it means ................ .
a- | WILL KILL YOU b-  ZERO
C-  MONEY d- oK
72. If you want to show respectful for an American man while you are speaking with
him, you should ..............cccceuuees .
a-  keep eye contact with him
b- continue looking at him with stopping
C-  look at him but not too long
d-  never look at him
73. The process of handling questions effectively means to have the skill of ...... .
a-  reading process b-  speaking process
C-  listening process d-  writing process
74. s your voice too shrill or strained? Do you speak in a monotone? In normal
speech, pitch varies. These variations are known as ................ .
a-  inflection b- volume
c-  quality d-  rate
75. In telephone calls we usually use some vocabularies such as; *'log a call* and it
means ..cceeeeeee. .
a-  stop talking b-  making a call
C-  leaving a message d-  closing the telephone call
76. When a receptionist receives a certain call from a certain speaker, he should
open his response by ................ .
a-  naming his name and his family's name
b- asking politely if any help is required
C-  naming his company and his name
d- identifying the caller
77. On atelephone call, if you are over stimulated, tend to seek and enter into
arguments and judge before comprehension is completed, then you are a/an
...................... listener.
a-  good b- successful
C-  effective d-  poor
78. The purpose of a Problem Solving Meeting is .........cccceeieeiinnennn .
a-  todiscuss an issue or conflict and make a decision on how to solve it
b- to decide how to deal with the present as well as to prevent future problems
C-  to produce new ideas about a specific topic
d-  to give and receive information about a specific idea or important matter
79. Each meeting should have a concise written ........cc.c.c..... that is distributed
in advance to all participants.
a-  handout b-  agenda
C-  postcard d-  minutes
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80. The type of conflict that discusses the allocation of resources, salaries, vacation
time, and office space is called a/an ....................... conflict.
a-  subjective b- relationship
C-  objective d-  social
8L eS il
81. Inan electrical circuit if VP=200v then the V. s is equal to :
a- l1l44v b- 1414 v
c- 7.07v d-  70.7v
82. The unit of impedance (Z) is:
a- tesla b- HzZ
c- ohm d-  nounit

83. The commutator is advice used to:
a-  convert the D.C voltage to A.C voltage.
b-  convert the A.C voltage to D.C voltage.
c-  connect the generator to the load.
d-  all of the above is correct.
84. Electronic multimeter is:
a-  an electrical device used to measure voltage only.
b-  an instrument which magnifies small quantities.

c- an electronic measuring instrument that combines several measurement
functions in one unit.

d- acombination of mechanical, electrical and electronic measuring device.
85. The unit of the power is:

a-  watt b-  ampere
c- ohm d-  volt
86. Voltmeters are always connected to circuits in:
a-  parallel b-  compound
c-  shunt d-  series

87. The secondary power in transformer:
a-  equals the primary one
b-  less than the secondary power
c-  more than the secondary power
d-  power primary = power secondary X turns ratio
88. The direction of the current inside the source is from:

a-  positive to negative b- negative to positive
c-  north to south d- south to north

89. The unit of inductance is:
a- farad b- VA
c- ohm d-  Henry

90. The magnet that is created by flow of electrons in a conductor is called:
a-  Bar magnet. b-  Horse shoe magnet.
c-  Permanent magnet. d- Electromagnet.

91. The unit of capacitance is:
a-  Walt. b-  Volt.
c- Ohm. d- Farad.
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92.

93.

94.

95.

96.

97.

98.

99.

100.

In the circuit shown find Rt (The Total Resistance):-

L
Ys= 20V ——  Ra=40
; ; R, =20
»
a- 0.75Q b- 1.33Q
c- 0.075Q d- 13.33Q
Ref to the previous question No. 92 the current in R; equals:
a- 05A b- 1A
c- 08A d- 1777 A
All components in Series Circuit:
a- Have Same Voltage Across Them
b-  Have Same Value
c-  Carry Same Currents
d-  Non Of Above
The Time needed to complete One Cycle Is:-
a- Period b- Frequency
c- Peak Value d- R.M.S Value
The increases of the applied voltage results in ----- of the current through the
resistor.
a-  increase b-  decrease
c- nochange d- rise then drop
When the circuit is opened the current equales:
a-  max b-  min
c- Zero d-  the value is doubled

The total capacitance for the circuit bellow is

H/ H/
I I
T il H
I I
a- 4uF b-  1uF
c- 05uF d- 0.25 uF

In a series circuit with R = 10Q, X_ = 25Q and X; = 35Q and carrying an
effective current of 5A, the power dissipated is:

a- 2502 W b- 250 W
c- 500W d- S0 W
The applied voltage on (20 k€2) resister with (4mA) current is:
a- 5V b- 80V
c- 80mVv d- 80kV
ALl gl
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